1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

= =
o o
N w

=
o

[EEY

0.5

7000 GeV pp W+Jet

= I I B B B B IR —
Filtered jet mass (anti-k (0.7), 220<p_<300, |y|<2.5)
i it NN
il s N
///;E/ \\\:‘\.\:.‘:\3 =
II// ‘.‘\:- \:'\\
/'I/ \'*\\\\\
i N
/ \\\gﬁ
e ‘\\\\\
\\\\.‘

CMS
- Pythia 6.428 390
--8-- Pythia 6.428 391
--%-- Pythia 6.428 392
-»-- Pythia 6.428 396
--- Pythia 6.428 397
---¥-- Pythia 6.428 398

T T TTTTT]TTT] IIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| [ TTI
T 1 1 | s
ONN |
|
7/
27

g
b § o g
/_//‘ . =- 4. _ pen / ’1
/%_::—?:}:sm,—’g /,'/@\\\-'\\@_ — i: — /“
N7 S A Ny = v :
[ 5 N L i
%/ \t*’ \::;\_/”
| g ¥ -

M N
0 50 100
(m_ 1+m_2)/2[GeV]

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


